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  ا��.�- )�#�ھ�ة +�$�ة ����(�! ا���)'-2


 ا�����  إن���

� ا�
��ھ�ة ا�����ة ����)y�(  ��� رة��

� ا������ ���
�)ŷ�(  د����
! � ا�
  ا������:

	y� = ŷ� + ε� = 	x�. b +	ε�   
  و&��% �$#ن:

E(y�) = E(ŷ� + ε�) = E(x�. b) + E(ε�)   

E(y�) = x�. E(b) + 0 = ��. �   

  و�$#ن أ�)�:

Var(y�) = Var(ŷ� + ε�)   

 
 

Var(y�) = Var(ŷ�) + Var(ε�) + 2	Cov(ŷ�, ε�)		   

  ا��1)
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Var(y�) = x�. σ�(x�x)��. x�	� + σ� + 0		   

� !("�) = #$[& + (��. (�'�)�&. ��	' )]								(35)	   

�
��د�� ا� ���� )�,S(��1#ل /.,-� ,��ره �������*  )�σ(ا�����*  و�
� أن ��
. و������4 �2�3 ا�
:4�� �
6  

		 (y�)� !̂ = 	S,�[1 + (x�. (x�x)��. x�	� )]								(36)   


 ا����� ,��      ���
�� �78#�
و�.���ع ,=> ا�7
��� ا��4 إ&�
�,�ھ� �; �ب /�
ة ا���9 ����
� ا�
   ھy�( :4( أن /�
ة ا��-�@ �
��ھ�ة ?���ة

��. 0 ∓ 2(&�3
$;	5�6�&). 78. 9[& + (��. (�'�)�&. ��	' )]									(37)	  


 ا����� ���
1* /�
ة ا���9 ا��4ء ا�
A!B أن /�
ة ا��-�@ �
��ھ�ة ?���ة �� �&� �ھ4 أ96
 إ

 ا�����.���
�� �78#�

� ا�����  


ه وط#�%، &��F أن ��-�E �#زن : )07(���ل 
& I�& J=7ذج إ,;�ار وزن ا�#
, I�& دا�
إ&�

ه O8 8-#ات و,M3 وط#�% 

. PQ !�د /�
ة ا���9  120ا�J=7 &-��1 �$#ن &�
�-895 % 


��ھ�ة ?���ة.� @�-���  

  ا���:


ه O8 8-#ات و,M3 وط#�% -1

  120ا���
� ا�
�-�E ��� �#زن ا�J=7 &-��1 �$#ن &�
�-8
  ھ4 ,=> ا���
� ا�
�#�78 ا�
��رة ا� ���� أي أن:

y� = 	20.5717	kg 

���ري  % 195* أ?J ! �ب /�
ة ا���9 -2

��ھ�ة ?���ة ,�#م أوT �; �ب ا�E7S ا�� @�-���

� ا�
�-�E ��� أي: ����  

		 (y�)#̂ =	9S,�[1 + x�. (x�x)��. x�	� ]  

:��, V�8 �1 I�& دا�
  ا&�

(y�)#̂ =	>[1.20618 + 0.120543] = &. &A&B 

4: % 95/�
ة ا���9  و������4 /.ن�� �

��ھ�ة ?���ة �$#ن 6� @�-���  

20.5717	 ∓ 2.014. (1.1518	)				   
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  ]18.25 ;  22.89	[أي:                                           

���18.25-�@ �
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اوح ��*  % 95/�
ة ا���9  و1-% /.ن       Y6
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